
Multiply by Negative Powers of Ten (C)Find each product.
63 × 0.01 = 11 × 0.01 =
32 × 0.001 = 38 × 0.01 =
94 × 0.01 = 11 × 0.01 =
31 × 0.001 = 6 × 0.01 =
47 × 0.001 = 73 × 0.01 =
37 × 0.1 = 29 × 0.001 =
35 × 0.1 = 7 × 0.001 =
48 × 0.01 = 11 × 0.01 =
58 × 0.01 = 20 × 0.01 =
82 × 0.001 = 23 × 0.01 =
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Multiply by Negative Powers of Ten (C) AnswersFind each product.
63 × 0.01 = 0.63 11 × 0.01 = 0.11
32 × 0.001 = 0.032 38 × 0.01 = 0.38
94 × 0.01 = 0.94 11 × 0.01 = 0.11
31 × 0.001 = 0.031 6 × 0.01 = 0.06
47 × 0.001 = 0.047 73 × 0.01 = 0.73
37 × 0.1 = 3.7 29 × 0.001 = 0.029
35 × 0.1 = 3.5 7 × 0.001 = 0.007
48 × 0.01 = 0.48 11 × 0.01 = 0.11
58 × 0.01 = 0.58 20 × 0.01 = 0.2
82 × 0.001 = 0.082 23 × 0.01 = 0.23
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